The two consecutive integers between which the rational

1
number %— lies :
(A)5and 6 (B)7and8 (C)6and8 (D)8and? )
In the figure given below, ‘

Based on the number line, the value of x - y — z is:
(A)-21 (B)-15 C)-3 (D) 15

e Which of the following is NOT a right-angled triangle?

= The data 29, 32, 48, 50, 2x, 2x + 4, 72, 78, 84, 95 is in ascending

order and has median 64. The value of %’ is:
(A) 62 (B) 31 (C)124 (D) 68

L For what value of ‘<’ does the equation

a+b-x a+e—-x c¢+b-x 4x
+ + +

=.]_ 1
c b a a+b+c SEbty.
(A) ab + be + ca (B)O
(C)a+b+c D)1
UCN/2011/VIi _
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ﬂ In the diagram, AD| |BC. AED is an isosceles triangle.

X ~ 2V ise R
-.—"’--
—
‘\ d__a—'—'__'_'-._'_.-'_.-._'-'
r:% /
T
. . R & b ( ' L
\/ s il B
/ S g
R R“'—-.,_H y_
X 30"

e ——

(A)20¢ (B —40" (L) 10‘ k L( 1.;\

ﬁ For what positive integer ‘n’ does n? x 1995% < 19967 1997

= 3990° x 39927 x 38984%?
(A2 (B4 ﬁ)" ‘/ (I8

] What number should be added to | o tu gel ;; 4
~
-31 {l? p 131 31
(A) —— By % p) &7 .
A g0 By g8 O gof - Py

¥T n the diagram, PQR is a straight line.
L

L

<% |
) 407 ;ﬁé\ \ u
o " 1&\
I'ﬂ.. ‘\
> Which of the following is incorrect?
. l (A)y—-x=60° Bz =40° .
{CYy + 2z = 2007 {(DYx+y+z=2200
. 1 .
m If ab = 1, then 1oa7 + {apt s
(A (Bia+b (1 Cia-b
UCN/2011/ViL - | 48]
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] 'l The ratio of Mr, X’s score to v |
= If Mr. Y had scored 30 marks le
been 4 : 3 instead. How many

(A) 50 (B)30 (C).sn

In the figure given below, ABC is a &

where AB = 7 ¢m and BC = 10 em, "f", -
BCD are quadrants. Area of shaded r

double in 8 years?

1, { 1 1
(A3 3 o (B)ﬂj (©) 33 - M3 2%
1'% When sin;Pl‘lK, d, the product |
1 ‘ 5 997
| [2‘§ [2 “,f} ------ [2—@] is equal to:
t Y 1001 1001 5
-~ s . 9
(4) 59 \ (B) 399 (©) —3 D3

- i1 In the figure given below,
» | . (3,; . 2 )cm Sy N
F The perimeter, in cm, of the triangle is:
(A) 8y +4x -3 (B) 8y -4x + 3
(C) 14x -2y -3 (D) 12xy -3
UCN/2011/VII - _ 49
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3 9

7
: 3 i —+ +—=0712 is:
[} The value of ‘m’ in the equation 10 1000 is:

(A) 10 (B) 100 (C) 1000 (D) 10,000

m If your classroom had 38 pupils and 1 was absent on, V|
Monday, 2 on Tuesday, 4 on Wednesday, 0 on Thursday ¥

and 3 on Friday. What was the average daily attendi'n{e? X
(A)32 (B)28 ()36 (D)30 - > }
g R A .
The largest of three consecutive m%ltiples 0 Fﬁgse sufh
gives 777 is:

b (¢
(A) 259 (B) 352 ©)1 #\(D) 266!‘,‘

m The correct construction of a right jn with acute angle
equal to £1and the altitude to the h use equal to ABis:

£

(A)p ) (B) p? (C)2p (D) p(n + 1)
_ . simplest form, the value of the quotient
19% +(342)(19%) .
9% is:
(A)O (B)1 (C)19 (D) 100 |
UCN/2011/VII | : m
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E The 1ongést segment shown in the figure is:

€y
AT
(A) AB ®sm «©pc o €7 F
-—
The method used to prove the two trianglesareq_mﬂllg:uent g;
B < J 2%

57 ( 9)

|

(A)SSS f D) AAS

%8 A trader has purchased wls atthera 42 per dozen.

If he has earned a"}?c{t of 14%% ,;'What is his selling
price? —

(A)T42 o ﬂ? 52 (C) Z 48 (D) ¥ 38

Three s ual'ts a‘; lined up horizontally as shown. The

area ijhe ﬁrgt'square is 9 cm?, the area of the second
?J square i}\\ﬁlcmz, and the area of the third sqluare is

\ 25 cm?, How'long is PQ?
v v — Q
) P

"‘(fr) 8 cm (B) 17 cm () 13 cm (D) 7 cm

UCN/2011/VII 51|
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. ’
===, “ <! ‘\h y
An oscillation of a pendulum is from ixd ack !:)
P again. If it takes 0.5 second to swi (1Q, then
how long will it take to make 5

(A) 5 seconds
(C) 2.5 seconds

Which of the fdllowing the

human body temperature?

‘C

"

£

e

C

el )

i
=1
=1

r]
(=]

T

&
(=]

8

(A)

(C) (D)

T R e S AT
[
=

(=]

=

[ =
=
T

Short eircuit
Connection of many devices
to a single socket
. Using MCB’sinstead of fuses
I and II only (B) Il and I1I only

) IIT and T only (D)I, IT and III

UCN/2011/VIY
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E What happens when light falls on a wooden chair?

(A) Some part of Iight reflected from the chair enter our eyes
(B) Light passes through the wooden chair
(C) The chair sends a signal to our eyes that enables us tosee it 4 (
(D) Electrical energy is given out by the chair ( 4
m Figure below shows an air conditioner used to cool a roons S / o/
| N : -'( L] J
Aiy CDndltl()*ne‘ ‘\ 4

4 - r
()ir

By which mode of transfer of hdat do ‘air conditioner
cool the room?

(A) Conduction V.
(C) Convection L EJ) Any of tlf'a’ﬁéve

231 In the circuit givendbelow, the WiF 8 connecting the
battery and the bulb greate a closed circuit.

<4
<

] y i iy

v 1 e

&) - < Baﬂ’ery

Y

' e What wm.;ld happen if one of these wires were cut?

» JA) The :?necting wires loses charge

(B) The glass would crack
(C) The

. 1b stops glowing
D) The wire would become hot

r
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the scale indicates the distance travelled by an object.
The respective time is shown on the clock at the end.
Which of the following shows the object travelling at the
greatest speed?

N
(A) - - ; . (E

1

(B) - . . 4@ 10 seconds ..-'
<Al .*':

go’iéonds

(C) bt—oa s

— 1 second )
(D) ’ @
3'3 Observe the position of images of object from the

mirror for the posmons of the object i t of it:

*l
T\ T

}FA =

&4 Jfxli 19#[1{ agedistance of the object at position A while

\\\\\\\\\1\

!

] Bl

I

Y

‘y’ is the i e distance of the object at position B, then
Whlch of e Yollowing statement is correct?

(A) Dlstan of object at A > distance of object at B
) Distange of object at B > distance of object at A

(C) Distange of object at A = distance of i Image at B

(D) Dlsta ce of object at B = distance of i image at A

UCN/2011/ViI m
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E Which of the following is the advantage of an accumulator
over a dry cell?
(A) Leak proof (B) Cheap
(C) Rechargeable (D) Portable

E During the dispersion of white light, violet colour suffers /
|

the greatest deviation while red colour suffers the leqst
deviation. Arrange colours yellow, green, orang?u
ascending order of deviation.

(A) Yellow, green, orange (B) Green, yellow, orang(i .l '
(C) Orange, vellow, green (D) Yellow orange

_d1on gfiet o$n core |

E The figure below shows a coil wo
eel ore Q

P and an identical coil wound o

When switch is closéd, 4 nails are attracted to each of

them. On openingof switch, what is the probable number
of nails still attr ‘Eed to P and Q?

P- Q{4

(A) 0’
- 1
(C) 4 A 4 0
( (D} 4 4
%8 Which of the following conditions enables heat to flow

| om one body to another body?
(A) The difference of temperature between the bodies
) The difference of the pressure exerted on the two bodies

(€ ) The difference of density between the two bodies
(D) The difference of size between the two bodies

UCN/2011/VII 55
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In which of the following circuit diagram, no current

flows through any part of the circuit?

(A) T . (B) (C) _I:/._

m Which of the following phenomenon does not u‘o ve

convection? * .'
(A) Sea breeze 1 < ! . r
(B) Land breeze ‘ 1;

(C) Cooling of water in a pool - } ;

(D) The flow of electricity in a confluctihg wire |

' m Which kind of mirror is used by arl EN.T. doctor to see
the internal parts of the body?

(A) Convex mirror (B) Concav
(C) Plane mirror il@ ) Either

or C

. The ‘average spee 31’4 motorist o a journey is:

(A) the total distange Javelled divided by the total time
(B) the averagegof the fastest and slowest speeds

(C) the aver i5 initial and final speeds
(D) the rjt fﬂnded by the total distance travelled

o
()

"r
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i Rana’s teacher asked him to connect 3 cells in different

ways to form a battery. Identify the correct way he must
connect to form a battery.

A marathon runmner runs 4

rage speed of

14 km h'. How long would it take for hi m td'complete a

marathon of 42 km? 4‘ %
(A) 2 hours (B) 3 ho ) 14 hours I (D) 42 hours

| The figure shows an by which is seldom used nowadays.

- ) -

v Object

Function

( What is t:t object and its functmn"

f-

A) | Hmlr glass | To measure time
(B) Sﬁﬁdial To measure time
Y& Waxclock | To tell the temperature

To store sand

W Glass cup

UCN/2011/VII
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A reflecting surface is curved outwards. Thé mirror
formed will he:
(A)concave  {(B)convex (C)plane (D) any of the above

Which of the following statements is incorrect?
(A) In a distance time graph, steeper the line, slower is the speed 1
of the moving body.

(B) The distance time graph of a body in uniform motloiu
straight line. ' (]’S

(C) ST unit of speed ism sL.

(D) Waxing and waning of the moon is periodic. 1
<

"
| A piece of silver becomes hot when kp tj’lﬂl]ﬂ.\"ght fo

" while. The silver does not receive

|

I. Radiati
| IL Convegtion
| L Conduction

1
.-

(A) I and I only (B) Il and NI onl;;y
(C)IIT and I only 4 (D) I, II an

E Figure below shm@ compass placed below a long
straight wire c urrent in the direction south to
north, while th pass needle pointing in the north

west dlrecthil

\ Cllrre;lt
- (
| . J 'f(sm pass

<%

.

(-/ If the dl \mn of current in the wire is reversed, then
the compass needle:

v (A) does ot show any deflection (B) points in the NE-direction

( (C) poj in the SE-direction (D) points in the SW-direction

UCN/2011/VI] ' E
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§ Far

e SLIRERE

The diagram below shows two incident parallel rays A

and B which emerge as rays C and D.

C
A >
X
N 1
B—> D “ r (
ql
What is the appropriate lens used in the box X’? o, )
(A) Convex lens (B) Concave lens ¢ N
(C) Plane lens (D) Plano-concave lens __" L 1 r
m Which of the following shows that certain solids are batl *
conductors of heat? N Y » % r

(A) The particles in the substance canp®

UCN/2011/VI
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5l Look at the figure of whipping an egg white:

Neha was performing an experime

G c
AT
O R ' v ‘
_ G = |
What kind of change is undergone by egg whité? \ ':
(A) Reversible chemical change % ( g "}
(B) Irreversible chemical change ) D 1
(C) Physical change L |

(D)) Both. physical as well as chergical chan

e handed. After

the experiment was over, she realifed that her palms

became slippery and sk yv. What think is the
reason for it? :

(A) She must have drofipel NaOH on her hands

(B) She must have d]l)jpe H,SO, on her hands

(C) She must have dropped NaC/ on her hands

(D) She musﬁh‘%‘ﬁmpped distilled water on her hands

The fajor £1ﬂ‘h contribute to the development of

cyclones is/are:
1 ’ 1 L. Windspeed
?/ ) ]\\ | I. Temperature

| IL. Humidity
‘% 4A)TandTlonly (B)II and I1I only
* #(C) I and §II only (D)L, 1T and I1I

The améunt of rainfall at a place depends on :

*(A)“terrain (B) geographic location
(() nature of soil (D) proximity to sea
UCN/2011/VII | 60|
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il Karan cuts a piece of wire and then bends to form a
pattern. Identify the change undergone by the wire.

(A) Irreversible physical change

(B) Reversible physical change .

(C) Chemical change r B

(D) Initially chemical change later physical change Al N R )
m A tornado is: ' __" ' 1 r

(A) uneven heating between two regions p A 1\ vy

(B) a violent, twisting funnel of wind 4
(C) vent through which hot gases em

(D) a sudden movement of earth’s £

In a pressure kerosene stove:

I. Wepump kerosene and c!mvert ifi
. II The vapours are then 1g‘mted

Which of the foﬂow ‘b about thL above statements?
(A) Iis a chemical chnge™MI is a physmeﬁ change

(B) I is a physical chnge; II is a chemical change

(C)Both Tand Il{e physical changes

(D) Both I an({ﬂ dre chemical changes

E A colou ess 11&1 d turns blue litmus red and reacts with

‘i magn m to produce a gas. What type of substance
- must the lourless liquid be?

(A) Acid Jb (B)Base  (C)Salt (D) Both (B) and (C)

Rohant served formation of the green patina on a
rCopper G;latue in his home. This formation is due to:

(A) chemigal change (B) physical change
ﬁC)peri dic change (D) both (B) and (C)

E'\?ﬁch of the following is an example of a physical change?
(A)Burning  (B)Rusting (C)Melting (D) Corroding

UCN/2011/VII m
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Observe the given figure carefully and select the correct

option.
1
Sulphuric .
acid 1
T
- |
4 v
1 r
Lime water § ' "
I\
I A white precipitate is obtained ‘5
[18 Effervescence is observed in the containing lime water

II. The test tube containing lime w ot

(A) L and II only (B) IT and IfT only 4
(C)III and I only A D)1, II andfIll

E Identify a true sta eﬁ*t regardin ‘ physical change?

(A) During the change Jlergy is evolved in the form ofheat or light
(B) It alters theyf: or appearance of a substance

O It changé‘ suhstance into a different substance

(D) Morjnan ) is‘lﬁstanoe must be present to have physical change

E How dqggs cyclone decrease the fertility of the soil in the

< coastal s?
(- (A) By flodding the land with saline water
}B) By disgolving soil and rocks
» _(C) By ingreasing the water table of the place
( (D) By ddereasing the water table of the place

1

UCN/2011/VI , m




U e e el

m Study the flow chart carefully.

Phenol-

g Phenol- ?
C . e - Pink:
DlﬂllIlE‘ElFl- q_"#—hﬁmlmn X 4 Y_,-‘ phthalam

- ’(C) Formation of Ca(OH), (D) Formation of CaCl,

NaCl + H.0
Identify X and Y.
X Y -
A4
(A)  NaOH | NaCl | 2\
®) ~ HCI NaOH . ( (¢
(C) NaOH | HUCI " o, ¥
() HCI NaCl :
What causes the candle flame fo get guished?
! (
-
f | g { Candle flame
‘ || extinguished
\ A) Evolution of O, gas (B) Evolution of CO, gas

2
2

Why are/acids always stored in glass containers and not

in met ic ones?
#»(A) Glass containers are transparent
(B) Glass containers are cheaper
(C) Metal containers are not easily available
(D) Metal reacts with the acid stored in them

UCN/2011/VII
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The shipping industry has to bear huge monetary losses

due to rusting of ships. What is/are the cause(s) leading
to this?

(A) The body of the ship is always in contact with water .,
(B) The air around is very humid ‘r
(C) The salt in water speeds up the process of rusting ol
(D) All of the above < ( A

E Wind currents are generated due to: - o |
(A) shape of earth

E Ground near a water body

(C) thunderstorm

(A) more moisture
(C) no moisture at all

What is the wind carrying watel fr07 oceans and
bringing rain called a%‘?

(A) Cyclone  (B) Tygholnk(C) Monso (D) Tornado
J
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EE} Which of the following organisms clean the Earth’s
surface?

(A) Autotrophs (B) Heterotrophs

(C) Chemotrophs (D) Decomposers "//
Why do plants used to disperse their seeds or frultg_ |

(A) To make a variety of species. ' .

(B) To maintain their species.

..l
(C) To protect their seeds from being mmab)
(D) To get sufficient water, air and 0 gfow.
il Which type of reproduction is shown i ediagram given

below?

(A) Bm:-ﬁﬁssmn) I (B) Fragmentation
4 KO Spo \ (D) Budding

)
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X Y

(A) Seeds Suckers
(B) Maple Eyes
(C) Mucor Eyes
(D) Drumstick | Spores

Observe the figure given below:

The ste hows swelhng in upper portlon. This is

(A) Upward movement of food
1... B) Downward movement of food
( © Ui;v?yd movement of water

(D) D

due to 1 locking of the:
a

ward movement of water

UCN/2011/VI
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Gas 'P' diffuses from a capillary into an alveolus in the
lungs. How is gas 'P' expelled from the alveolus?

alvelous

| €9
) a7
_, L r

“ﬁ:ﬁﬁ lood 14 " ’
r capillary ) “( g, \ "
(A) During inhalation  (B) Duringe L% on } ""
(C) During respiration (D) During'exgrecis 7
il The dilagra:m below shows matérials ed for survival

£

1

- 1: g ]
1
Which body 4!51:'“l performs this function in humans?
(A) Circuitory S}lf m (B) Digestive system
J(C) Excr system (D) Respiratory system

V)
fi:] Identify the @nimal that pops out its stomach through
its mouthfto eat the food?

A) Hydra (B)Starfish  (C)Amoeba (D) Snail
Which ofjthe following describes moulting?

)Spinning of cocoon

fErCasting off of 0ld skin
(C) The resting stage is the life cycle of a silk worm

(D) Change in appearance in the life cycle of silk worm

UCN/2011/VI
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Given below are the various steps involved in animal

nutrition.
L. Assimilation—[
II. Imgestion W
III. Absorption '( 1
IV. Digestion <t
V. Egestion 1 ( 4
L= e PR et e T AR . ™
Arrange them in proper sequential order, - ' ]
-
AL ILIV, L,V B IILL IV, ILV 1 g
(© 1L, 1V, I1L, 1, V OILEY, LV, gt x 4
d
28 Which of the following two te e rela,"e‘i to silk
production? , f
(A) Sericulture and floriculture e and horticulture
(C) Apiculture and floriculture e and moriculture
Symbiosis is the phenomenon in Wh'chJWO different
kinds of organisms PRYl togethef their nutritional
requirements. From the llowing lfigures, which one
represents such ais @ation?
n .
B 5\ (B)
I
|
D) | '
"%} Why do we have muscular cramps after strenous exercige?
)t is due to the breakdown of glucose
'f]ﬂ It is due to the slow circulation of blood
(C) It is due to accumulation of lactic acid
(D) It is due to muscle cells respiring aerobically
UCN/2011/VHl m
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The change in the fur of an artic hare from summer to
winter helps it to.

(A) lower their body temperature

(B) protect their eyes from sunlight . {
(C) help them to move on slippery ice ( w
(D) make them less visible to predators <} - {': '}

E Which of the following statements best explain.s';rllly ) |
fruits and leafy vegetables are included in a ke!\l{hy diét?

(A) They have a high water content ('1 o

(B) They are the best source of protei
(C) They are rich in minerals and ita
(D) They are the best source of carbohydratgs

m Abhi fell down from a bicycle and g min?' injuries on |

his body. He noticed th lood was cemrim§ out from the
injuries but it stopped r sometine, a dark red clot
was formed there. @hé clot is formed because of the

presence of; ] y
(A) Red blood cells ™ (B) Plasma
(C) White blcbd,:'céuf (D) Platelets

Thg figure g!winif)elow illustrates?
.]r\ ;
-'

(A) Autotrophic nutrition (B) Saprophytic nutrition

i

.(C)._Par sitic nutrition (D) Symbiotic nutrition
E’Jﬁe hydra pushes food into its mouth by using:
(A) cilia _ ' (B) proboscis
(C) tentacles (D) pseudopodia
UCN/2011/VII @
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; ‘I. Q i
Which part bearq the female g
(A)X (B)Y (&) Z (D)W

i! Which of the following is the ct grder of transport
of water from the soil to the af of a plant?

(A) Root - Root hair — Phlodm — Re
| (B) Roothair — Root —s Xylem — Leat ,
(C) Root — Root hair —aeaf — Phlo
(D) Root - Xylem —il’xloe — Leaf

M




| 3,9,15,21 & A
(A)22 (B)24 (C)27 (D) 28 . f ,
E Which instrument is used to measure pressure? T v /y‘
(A) Ammeter (B) Manometer : ' { .-:"f"'
(C) Lactometer (D) Telescope

Name the famous boxing chamflo Whﬁ(.koff hﬁ

opponent’s ear? 9

(A) Evander Holy Field (B)

(C) Dinko Singh (D)
“'§ The meetings of the Rajya Sabha a esided over by:
(A) President (B) Vice-p 1dent,

(C) Prime Minister 4 (D) Speake

95 | ‘Who among the foﬂﬂg} NOT a Nobel Prize winner?

(A) Mahatma Gandhi) A (B) Rabindranath Tagore
(C)C.V. Raman (D) Mother Teresa

| How many my Awards did the film “TTTANIC” win

at the Osca
(A) 11 bi] 13 (C)9 (D) 18

m_r_ beauty crowns?
b6 (D)2000

In whlc ear did India won il
(A) 1994 (B)1997 ()
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2. B 3. C 4. B 5. C 6. D, 7. D 8. D
10. C M. C 12. C 13. B 14. C 16. A 16. C
18. D 19. D 20. C 21: B 22; G 23. C 24. C
26. D 27. B 28. A 29. A 30. € 31. C 32. D
34. C 35 C 36. B 37. A 38. C 39. D 40. B
42. D 43. B 44 A 45. B 46. A 47. B 48. B
50. A 51. C 52. A 53. D 54. B 55. B 56. B
58. A 59. A 60. C 61. C 62. B 63. A 64. B
66. D 67. D 68. B 69. A 70, C 71. D 72. D
74. C 75 B 76. B 77. A 78. B 79. B 80. C
82. D 83 C 84. D 85. C 86. D 87. B 88. C
90. B 91. C 92. B 93. B 94. B 95. A 96. A
98. B 99. C 100.A
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